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Compound interest

(चक्रवृधि ब्याज)

Concept Lecture – 5



At what per cent per annum will Rs.𝟑𝟎𝟎𝟎
amounts to Rs.𝟑𝟗𝟗𝟑 in 𝟑 years if the
interest is compounded annually?
कितने प्रततशत वार्षिि चक्रवदृ्धि ब्याज पर
𝟑 वषि में 𝟑𝟎𝟎𝟎 रु, 𝟑𝟗𝟗𝟑 रु हो जाता है?
a) 𝟗% b) 𝟏𝟎%
c) 𝟏𝟏% d) 𝟏𝟑%
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At what rate per cent annum will a sum of

₹𝟏𝟓, 𝟔𝟐𝟓 amount to ₹𝟐𝟏, 𝟗𝟓𝟐 in three

years, if the interest is compounded

annually?

𝟏𝟓, 𝟔𝟐𝟓 रु िी िनराशश, वार्षिि रूप से
चक्रर्िधि किए जाने वाले कितने प्रततशत
ब्याज दर पर 𝟑 वषो में रु 𝟐𝟏, 𝟗𝟓𝟐 हो
जाएगी?
a) 𝟗% b) 𝟏𝟐% c) 𝟏𝟎% d) 𝟖%
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A sum of ₹3125 amounts to ₹3515.20
in 3 years at 𝒙% p.a., interest being
compounded yearly. What will be the
simple interest (in ₹) on the same sum
and for the same time at 𝒙 + 𝟐 %
p.a.?
ब्याज वार्षिि रूप में सयोजजत होने पर
₹3125 िी राशश 𝒙% वार्षिि चक्रवदृ्धि
ब्याज दर से 3 वषि में ₹3515.20 हो
जाती है| उसी राशश पर उसी अवधि में
𝒙 + 𝟐 % वार्षिि दर पर सािारण
ब्याज (₹ में) ज्ञात िरें|
a) 550 b) 𝟓𝟔𝟓. 𝟓𝟎
c) 554 d) 𝟓𝟔𝟐. 𝟓𝟎
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At what rate per annum will Rs.𝟑𝟐𝟎𝟎𝟎 yield
a compound interest of Rs.𝟓𝟎𝟒𝟒 in 𝟗 months
interest being compounded quarterly?
प्रततवषि किस दर से 𝟑𝟐𝟎𝟎𝟎 रु िा ततमाही
चक्रवदृ्धि में 𝟗 महीनों िे शलए ब्याज 𝟓𝟎𝟒𝟒
रु होगा?
a) 𝟐𝟎% b) 𝟏𝟎%
c) 𝟏𝟓% d) 𝟓%
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A certain amount invested at a rate,

compounded annually, grows to an amount

in five years, which is a factor of 𝟏. 𝟏𝟗𝟏𝟎𝟏𝟔

more than to what it would have grown in

two years. What is the rate percentage?

एि तनजचचत राशश, जो एि वार्षिि दर पर
तनवेश िी जाती है, पाांच वषी में एि राशश
ति बढ़ जाती है, जो िी दो वषीं में होने
वाली तुलना में 𝟏. 𝟏𝟗𝟏𝟎𝟏𝟔 से अधिि है| दर
प्रततशत क्या है?
a) 𝟓 b) 𝟒 c) 𝟔 d) 𝟖
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A sum amounts to ₹7,562 in 4 years and to
₹8,469.44 in 5 years, at a certain rate per cent
annum when the interest is compounded yearly.
If ₹10,000 at the same rate of interest is
borrowed for two years, then what will be the
compound interest (in ₹) ?
जब ब्याज िी गणना वार्षिि चक्रर्िधि आिार
पर होती है, तो राशी किसी तनजचचत वार्षिि
ब्याज दर पर 4 वषो में ₹7,562 और 5 वषो में
₹8,469.44 हो जाती है| यदद सामान ब्याज दर
पर ₹10,000 िा ऋण 2 वषो िे शलए शलया
जाता है, तो च्क्क्रर्िधि ब्याज िी गणना (₹ में)
िरे
a) 2,544 b) 1,736 c) 2,764 d) 1,965
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The ratio of the amount for two years
under CI annually and for one year under SI
is 𝟔: 𝟓. If the rate of interest is same, then
the value of the rate of interest is:
चक्रवधृि ब्याज पर 𝟐 वषि िे शमश्रिन और
सािारण ब्याज पर 𝟏 वषि िे शमश्रिन िा
अनपुात 𝟔: 𝟓 है| अगर ब्याज िी दर बराबर
है तो प्रतत वषि िी दर बताओ|
a) 𝟏𝟐. 𝟓% b) 𝟏𝟖%
c) 𝟐𝟎% d) 𝟏𝟔. 𝟔𝟔%
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A sum of money was invested for 𝟑 years at
𝒓 % compound interest. An equal sum was
invested for 𝟏 year at 𝒓 % simple interest. It
was observed that the amount in the 𝟏𝒔𝒕
investment is twice that in the 𝟐𝒏𝒅. Taking

𝟐 = 𝟏. 𝟒𝟏, 𝒓 % is equal to
िोई राशश 𝒓% िी वार्षिि दर से 𝟑 वषि िे
शलए चक्रवदृ्धि व्याज पर तनवेश िी जाती है|
इतनी ही और राशश 𝒓% िी दर से 𝟏 साल िे
शलए सािारण व्याज पर तनवेश िी जाती है|
ऐसा पाया गया कि पहले तनवेश िा िुलिन
दसुरे तनवेश िे िुल िन से दोगुना हो गया
है| ( 𝟐 = 𝟏. 𝟒𝟏 लेिर) 𝒓 % पता िरो|
a) 𝟏𝟏% b) 𝟐𝟏%
c) 𝟑𝟏% d) 𝟒𝟏%
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If a sum of money 𝑹𝒔. 𝟒𝟖𝟔𝟎𝟎 become

𝑹𝒔. 𝟏𝟏𝟓𝟐𝟎𝟎 in 𝟒. 𝟓 years. Then in 𝟕. 𝟓 years

it will become how much if it is given at

compound interest annually?

𝟒𝟖𝟔𝟎𝟎 रु िी राशश 𝟒. 𝟓 वषीं में 𝟏𝟏𝟓𝟐𝟎𝟎 रु
हो जाती है तो 𝟕. 𝟓 वषि में यह िनराशश
कितना हो जायेगी यदद चक्रवदृ्धि ब्याज
वार्षिि सांयोजजत हो?
a) 𝑹𝒔. 𝟏𝟓𝟗𝟔𝟎𝟎 b) 𝑹𝒔. 𝟐𝟎𝟒𝟖𝟎𝟎

c) 𝑹𝒔. 𝟐𝟑𝟎𝟒𝟎𝟎 d) 𝑹𝒔. 𝟏𝟕𝟐𝟖𝟎𝟎
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𝑹𝒔. 𝟒𝟖𝟎𝟎 becomes 𝟕𝟓𝟎𝟎 at a certain rate of

interest compounded annually in 𝟐 years 𝟖

months. Then in how many years 𝑹𝒔. 𝟏𝟗𝟐𝟎𝟎

will amounts to 𝟑𝟕𝟓𝟎𝟎 at the same rate of

interest compounded annually?

𝟒𝟖𝟎𝟎 रूपये िी िनराशश एि तनजचचत
चक्रवदृ्धि ब्याज िी दर से 𝟐 वषि 𝟖 माह में
𝟕𝟓𝟎𝟎 रूपये हो जाती है| तो 𝟏𝟗𝟐𝟎𝟎 रु िी
िनराशश कितने समय में बढिर 𝟑𝟕𝟓𝟎𝟎 रूपये
हो जाएगी यदद समान दर पर वार्षिि
चक्रवदृ्धि ब्याज सांयोजजत हो?
a) 𝟑 years 𝟒 months b) 𝟒 years

c) 𝟓 years 𝟒 months d) 𝟒 years 𝟒 months
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The least number of complete years in which a
sum of money put out at 𝟐𝟎% compound
interest will be more than doubled is:
पणूि वषों िी िम से िम सांख्या जजसमे 𝟐𝟎%
चक्रवदृ्धि ब्याज पर लगाया गया िन दोगुना से
अधिि होगा?
a) 𝟖 years b) 𝟔 years c) 𝟓 years d) 𝟒 years
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The least number of complete years in which a sum of
money put out at 𝟒𝟎% compound interest will be
more than triple is:
पणूि वषों िी िम से िम सांख्या जजसमे 𝟒𝟎% चक्रवदृ्धि
ब्याज पर लगाया गया िन ततगुने से अधिि होगा?
a) 𝟖 years b) 𝟔 years c) 𝟓 years d) 𝟒 years
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A sum of money becomes 𝟏𝟔 times of itself
in 𝟐 years if compound half yearly. How
much time it will take to become 𝟐𝟕 times if
compounded yearly ?
एि तनजचचत िनराशश 𝟐 वषि में स्वयां िा 𝟏𝟔
गुना हो जाती है यदद चक्रविी ब्याज
अििवार्षिि सांयोजजत हो | कितने समय में
िनराशश स्वयां िा 𝟐𝟕 गुना जाएगी यदद
चक्रविी ब्याज वार्षिि सांयोजजत हो ?
a) 𝟐. 𝟓 years b) 𝟑 years
c) 𝟒 years d) 𝟒. 𝟓 years
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The ratio of two sums is 𝟏𝟐: 𝟏𝟑. If they are
lent out at compound interest for 𝟓 and 𝟒
years respectively, then the equal amount is
received . Find the rate of interest per annum
?
दो िनराशशयों िा अनपुात 𝟏𝟐: 𝟏𝟑 है | यदद वे
चक्रविी ब्याज िी दर से क्रमशः 𝟓 वषि और 𝟒
वषि िे शलए उिार ददए गये हैं | तो बराबर िन
राशश प्राप्त किया जाता हैं | वार्षिि ब्याज िी
दर ज्ञात िरें ?
a) 𝟑𝟎% b) 𝟖. 𝟑𝟑% c) 𝟐𝟓% d) 𝟐𝟎%



16

The ratio of two amounts is 𝟒𝟗: 𝟖𝟏. If they
are lent out at compound interest for 𝟐𝟑
years and 𝟐𝟏 years respectively, then the
equal amount is received. Find the rate of
interest per annum.
दो िनराशशयों िा अनपुात 𝟒𝟗: 𝟖𝟏 है| यदद वे
चक्रवदृ्धि व्याज िी दर से क्रमश: 𝟐𝟑 वषि
ओर 𝟐𝟏 वषि िे शलये उिार देते है तब वे
बराबर िनराशश प्राप्त िरते है तो वार्षिि
व्याज िे दर ज्ञात िरे?
a) 𝟏𝟐. 𝟓% b) 𝟏𝟒. 𝟐𝟖%
c) 𝟐𝟖. 𝟓𝟔% d) 𝟐𝟐. 𝟐𝟐%
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A certain sum of money lent out at compound
interest increases by 𝟓𝟎% in 𝟓 years. Three
principals 𝒙, 𝒚, and 𝒛 lent for 𝟏𝟎, 𝟏𝟓 and 𝟐𝟎
years. If amount of all principal are equal. Then
find the ratio between 𝒙, 𝒚 and 𝒛 .
िोई िनराशश चक्रवदृ्धि ब्याज िी दर से उिार
ली गई| 𝟓 वषि मे 𝟓𝟎% बढ़ जाती है तीन राशशयों
𝒙, 𝒚 ओर 𝒛 िो क्रमश: 𝟏𝟎, 𝟏𝟓 ओर 𝟐𝟎 वषों
िे शलए उिार दी जाती है यदद तीनों राशशयों पर
समान शमश्रिन प्राप्त हुए हो तो 𝒙, 𝒚 तथा 𝒛 मे
क्या अनपुात है?
a) 𝟒: 𝟑: 𝟐 b) 𝟗: 𝟔: 𝟒 c) 𝟑: 𝟐: 𝟏 d) 𝟏𝟔: 𝟗: 𝟒



A sum of ₹𝟏𝟖, 𝟎𝟎𝟎 is lent at 𝟏𝟎%
p.a. compound interest,
compounded annually. What is the
difference between the compound
interest for 𝟑𝒓𝒅 year and 𝟒𝒕𝒉 year?
₹𝟏𝟖, 𝟎𝟎𝟎 िी राशी िो 𝟏𝟎% वार्षिि
चक्रवधृि ब्याज िी दर से ऋण पर
ददया गया है| तीसरे और चोथे वषि
िे चक्रवधृि ब्याज िे बीच क्या अांतर
है?
a) ₹𝟐𝟐𝟎. 𝟔𝟎 b) ₹𝟐𝟏𝟕. 𝟖𝟎
c) ₹𝟐𝟐𝟏. 𝟖𝟎 d) ₹𝟐𝟏𝟓. 𝟒𝟎
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Compound interest for 𝟒𝒕𝒉 year is 𝑹𝒔.𝟑𝟖𝟒 and
compound interest for 𝟔𝒕𝒉 year is 𝑹𝒔. 𝟒𝟖𝟔 then
find the rate of compound interest?
चोथे वषि िा चक्रवदृ्धि ब्याज 𝑹𝒔.𝟑𝟖𝟒 है तथा 𝟔
वे वषि िा चक्रवदृ्धि ब्याज 𝑹𝒔 . 𝟒𝟖𝟔 है तो
चक्रवदृ्धि व्याज ज्ञात िरें?
a) 𝟏𝟐. 𝟓% b) 𝟏𝟎% c) 𝟗% d) 𝟖%
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The compound interest on a certain
sum of money at a fixed annual rate in
the second year and third year, will be
Rs 𝟑𝟑𝟎𝟎 and Rs. 𝟑𝟔𝟑𝟎 respectively.
What will be the amount of money for

𝟐
𝟏

𝟐
years at the same interest rate, if

the interest is compounded annually?
एि तनजचचत िनराशश िे शलए ब्याज कि एि
तनजचचत वार्षिि दर पर दसुरे वषि और तीसरे
वषि में प्राप्त होने वाला चक्रविी ब्याज क्रमशः
𝟑𝟑𝟎𝟎रु. और 𝟑𝟔𝟑𝟎रु. है | 𝟐 𝟏

𝟐
वषो वही िन

राशश उसी ब्याज दर पर कितनी हो जाएगी,
यदद ब्याज वार्षिि रूप से चक्रविी किया
जाता है ?
a) 𝟑𝟔, 𝟎𝟎𝟎 b) 𝟑𝟖, 𝟏𝟏𝟓
c) 𝟑𝟕, 𝟐𝟏𝟓 d) 𝟑𝟔, 𝟑𝟎𝟎
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Compound interest on a certain sum of
money is obtained Rs 𝟏𝟐𝟗𝟔𝟎 in third year If
the interest rate in three years is

respectively 𝟏𝟐. 𝟓%, 𝟔
𝟐

𝟑
%, 𝟕

𝟏

𝟕
% annually,

then find the principal ?
एि तनजचचत िनराशश पर तीसरे वषि िा
चक्रविी ब्याज 𝟏𝟐𝟗𝟔𝟎रु . प्राप्त होता है |
यदद तीन वषो में ब्याज दर 𝟏𝟐. 𝟓%, 𝟔

𝟐

𝟑
%,

𝟕
𝟏

𝟕
% वार्षिि है, तो मलूिन ज्ञात िीजजये ?

a) 𝑹𝒔. 𝟐𝟎𝟏𝟔𝟎𝟎 b) 𝑹𝒔. 𝟏𝟕𝟔𝟒𝟎𝟎
c) 𝑹𝒔. 𝟏𝟒𝟐𝟖𝟎𝟎 d) 𝑹𝒔. 𝟏𝟓𝟏𝟐𝟎𝟎
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The compound interest on a sum in 𝟔
years is 𝑹𝒔 .𝟒𝟎𝟎𝟎 and compound
interest on same sum in 𝟏𝟐 years is
𝟗𝟔𝟎𝟎. Find the sum.
किसी तनजचचत िनराशश पर 𝟔 वषों िा
चक्रवदृ्धि ब्याज 𝑹𝒔.𝟒𝟎𝟎𝟎 है तथा 𝟏𝟐
वषों िा चक्रवदृ्धि ब्याज 𝟗𝟔𝟎𝟎 है|
मलूिन ज्ञात िरें?
a) 𝟏𝟐𝟓𝟎𝟎 b) 𝟏𝟐𝟎𝟎𝟎
c) 𝟏𝟓𝟎𝟎𝟎 d) 𝟏𝟎𝟎𝟎𝟎
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The compound interest on a sum in 𝟕 years is
Rs.𝟒𝟎𝟎 and compound interest on same sum in
𝟏𝟒 years is Rs.𝟏𝟑𝟎𝟎. Find the sum.
किसी तनजचचत िनराशश पर 7 वषों िा चक्रवदृ्धि
ब्याज Rs.400 है तथा 14 वषों िा चक्रवदृ्धि ब्याज
Rs.1300 है तो मलूिन ज्ञात िरें?
a) 𝟑𝟐𝟎 b) 𝟒𝟐𝟎 c) 𝟓𝟐𝟎 d) 𝟒𝟏𝟎
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The compound interest on a sum in 8 years is
Rs.𝟒𝟎𝟎 and compound interest on same sum
in 𝟏𝟔 years is Rs.𝟏𝟑𝟎𝟎 . Find compound
interest on the same sum in 𝟐𝟎 years.
किसी तनजचचत िनराशश पर 𝟖 वषों िा
चक्रवदृ्धि ब्याज 𝑹𝒔.𝟒𝟎𝟎 है तथा 𝟏𝟔 वषों िा
चक्रवदृ्धि ब्याज 𝑹𝒔. 𝟏𝟑𝟎𝟎 है| तो 𝟐𝟎 वषों िा
चक्रवदृ्धि ब्याज ज्ञात िरें?
a) 𝟐𝟑𝟎𝟎 b) 𝟐𝟏𝟏𝟎 c) 𝟏𝟗𝟓𝟎 d) 𝟐𝟒𝟎𝟎
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The compound interest on a sum in 𝟑 years is
Rs.𝟏𝟐𝟖𝟎 and compound interest on same sum in
𝟔 years is 𝟑𝟕𝟖𝟎. Find the rate of interest.
किसी तनजचचत िनराशश पर 𝟑 वषों िा चक्रवदृ्धि
ब्याज 𝑹𝒔 .𝟏𝟐𝟖𝟎 है तथा 𝟔 वषों िा चक्रवदृ्धि
ब्याज 𝟏𝟐𝟖𝟎 है| ब्याज िी दर ज्ञात िरें.
a) 𝟏𝟎% b) 𝟐𝟎% c) 𝟐𝟓% d) 𝟏𝟐. 𝟓%
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